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Fillin the missing numbers.
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(a) Add together 147 and 376

(b) Subtract 36 from 218

(c) Multiply 49 by 3
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1 buy a widescreen television costing £1290

| pay £900 now, then

1 pay the rest of the money in 3 equal payments.

How much is each payment?

Show your working.

2mats




image10.jpg
1.

A shop sells sports equipment.

=

trampette
£17.99

basketball
stand
£169

tennis
racket
£14.99

®

football
£5.99

(a) Mr Adams pays for a sports bag and a basketball stand.

Altogether, how much does he pay?

(b) Mrs Brown has £20
She pays for two footballs.

\

How much change should she get?

(c) Mrs Cooke has £60

How many tennis rackets can she buy with £507

\

\

+mank

+ mank

+ mank
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I buy a widescreen television costing £1290

1 pay £900 now, then

1 pay the rest of the money in 3 equal payments.

How much is each payment?

Show your working.
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Here are the prices of food and drinks in a café.

Food Drinks
Pizza £140 Tea 65p
Burger 95p Coffee 90p
Sandwich  £1.20 Cola 80p
Toast 90p Juice £1.00

(a) Sally wants to buy one item of food and one drink.

What is the least amount of money she can pay?

N\ e

(b) Lee buys one item of food and one drink.

He pays with a £5 note and gets £2.60 change.

What did Lee buy?

N\

and
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10. (a) Add together 3.7 and 6.5

(b) Subtract5.7 from 15.2

() Multiply 254 by &

(d) Divide 342 by 6
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In a theatre, tickets are three different prices.

Ticket in seating area A £19.00
Ticket in seating area B £29.00
Ticket in seating area C £39.00

(a) How many tickets in area A can you buy with £1007

\

(b) How many tickets in area B can you buy with £2007

\

(¢) Jo buys two tickets in area C.
She pays with two £50 notes.

How much change should she get?
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5.

The table shows information about the Paralympic Games.

Number of

Year countries that | the games
100k part took place

1960 23 Italy

1980 a2 Holland ‘ 2500 |

(a) More countries took part in 1980 than in 1960.

How many more?

\

(b) More people took part in 1980 than in 1960.

How many more?

\

(c) In the year 2000, the games took place in Australia.

81 more countries took part in 2000 than in 1980.

1324 more people took part in 2000 than in 1980.

Use this information to complete the table at the top of the page.
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A newspaper printed this information about the number of
teachers in England.

(a)

‘Secondary school teachers

In 1997 there were 176050 teachers.

By 2002 there were 11810 more teachers.

How many secondary school teachers were there in 20027

(b)

In 1997 there were 176890 teachers.

In 2002 there were 178240 teachers.

There were more primary school teachers in 2002 than in 1997.

How many more?
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23 Use your calculator to work out the answers.

\

(48 + 67) x (61 - 19)

a8 + 57
61 -19 +ma
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3. (a) Addtogether3.7 and 6.5

(b) Subtract 5.7 from 15.2

(c) Multiply 254 by 5

(d) Divide 342 by 6




image19.jpg
18. (@) Look at this information

Two numbers multiply to make zero.

One of the statements below is true.

Tick (v) the t

N\

rue statement.

Both numbers must be zero.

At least one number must be zero.

Exactly one number must be zero,

Neither number can be zero

(b) Now look at this information

Two numbers add to make zero

If one number is zero, what is the other number?

\

If neither number is zero, give an example of what

the numbers

could be.

and




image20.jpg
Use your calculator to work out the answers.

\

(48 + 67) x (61 - 19) =

48 + 57
61-19
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6. (@ Workout

7+ 46 =

7 x 5 =

() What number do you need to add to 63 to make 1007

(©) Wnat number do you need to subtract from 100 to make 387




image22.jpg
5.

A shop sells birthday cards.

Each card has a code that shows the price.

Price of card

95p

£1.25

£1.65

olo|wm|>

£1.95

m

£235

(a) Karen pays for two cards.
One card has code A on it.
The other has code C.

Altogether, how much does Karen pay?

(©) Tariq pays for two cards.
Both cards have code D on them.

Tariq pays with a £10 note.
How much change should he get?
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(©

Greg pays for two cards.
Altogether he pays £3.60

What could the codes on Greg's cards be?
There are two different answers. Write them both.

The codes could be and Lor

the codes could be and
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3. Write the missing numbers in the boxes.

\ 4 L + 20 = 180

4 x 20 4+ = 180

4 ® - 20 = 180
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6.

Write the missing numbers in the boxes.

\

4 x +

20

20

180

180

180
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Work out

64 + 57

64 - 57

"
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\

Kate buys 24 cans of lemonade.

She buys the cans in packs of 4
Each pack costs £1.20

Pack of 4

Steve buys 24 cans of lemonade.

He buys the cans in packs of 6
Each pack costs £1.60

Pack of 6
Cost £1.60

Kate pays more for her 24 cans than Steve pays for his 24 cans.

How much more?
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18.  Kate buys 24 cans of lemonade.

She buys the cans in packs of 4
Each pack costs £1.20

Pack of 4
Cost £1.20

Steve buys 24 cans of lemonade.

He buys the cans in packs of 6
Each pack costs £1.60

Pack of 6
Cost £1.60

Kate pays more for her 24 cans than Steve pays for his 24 cans.

How much more?

\
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7.

People who have been married for many years have special anniversaries.

Number of years they Special
have been married anniversary
25 years Silver
| s coden
| 60 years Diamond

(@ Betty and Stan were married in 1952.
In what year was their golden anniversary?

\—

(b) Lyn and Chris had thei silver anniversary in 1985.
In what year were they married?

\_

(©) Jean and Peter had their diamond anniversary in 1997.
In what year was their golden anniversary?

\—
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Work out the following.

1706 + 185

576 - 83

65 x 9

154 + 7
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In the diagram, three circles in a straight ine must add up to 100

Write in the missing numbers.

\

O

45

35
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In a restaurant, the colour of each dish shows how much the food in it costs.
‘The table shows the different colours and costs.

Colour of dish
Green £1.50
Blue £2.00
Red £2.50
Orange £3.00
Pink £3.50

(@ Meera pays for two biue dishes and two pink dishes.
Altogether, how much did they cost?

\[e

(b) Victor pays for one green, one red and one pink dish.
He pays with a £10 note.

How much change should he get?

\
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() Rachel pays for two dishes that cost exactly £4.50 altogether.

What colours could her dishes be?

‘There are two possible answers. Write them both.

colours: and

or colours: and
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oionoonon

Use the digit cards to complete the calculations below.

YYou can use each card more than once.
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Fillin the boxes to complete each number chain.

Use any of the following:

+10 -10 x10 > +10
N e
\ 450 —» - - 35
\ 450 —»| - - 46
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15.

\
\

Look at this set of four number cards.

The sum of these numbers is 80

Now look at the two sets of number cards below.

SetA

SetB

17 ][]

19”20’

=) (=) (=)

Which set has a sum that is closer to 807

SetA

SetB

Explain your answer.
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6. (a) What number should you add to 28 to make 1007

\

(b) What number should you subtract from 100 to make 787

\

(e) Work out

48 + 49 =

784+3=

1048 + 208 =

4828 - 480 =
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T 999

Each parcel costs £1.30 to post.
How much change should she get from £10?

\
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11. The table shows the cost of tickets for visiting a castle.

Family £17.00

Adult £6.50
£4.50

Two adults and two children visit the castie.
They buy a family ticket.

How much more would it have cost to buy two adult tickets and
two child tickets?
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12, Pupils take a test that has three different papers.

Each pupil adds their marks from all three papers to find their total mark.
The table shows how to change the total mark to a grade.

‘mark Grade

104 or more

From 79 to 103

From 5310 78

From 34 to 52

mlo|o|o|>

33 or less

(a) Here are Simon’s marks.

Paper 1 Paper2 Paper 3
26 marks 33 marks 18 marks

What grade did Simon get on the test?
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(b) Here are Jenna's marks from paper 1 and paper 2

48 marks 35 marks. ?

Jenna's grade on the test was grade A.
Complete the sentence below.

\

Jenna must have scored atleast _____ marks on paper 3 .
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Fill in the boxes to complete each number chain.

Use any of the following:

+10 >

_10> x1o>

D

450 —»|

450 —=|

\ 450 —»|

e

=~ 35

-~ 46
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\
\

Look at this set of four number cards.

The sum of these numbers is 80

Now look at the two sets of number cards below.

SetA

SetB

a

w) [0 []

‘21”22”23“24’

Which set has a sum that is closer to 807

SetA SetB

Explain your answer.
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18. Match each instruction on the left with an instruction on the right that has.

the same effect.

“The first one is done for you.

Add 0

[~ ]
N

1
‘Subtract 2

Subtract 0

1
2

Add -2

Subtract -2
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Gary took part in a quiz show and won a million pounds.

He spent £20000 on a holiday.

Then he spent half of the money left on a house.

How much did Gary's house cost?
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Pupils take a test that has three different papers.

Each pupil adds their marks from all three papers to find their total mark.
‘The table shows how to change the total mark to a grade.

TN E——

From 530 78

From 34 to 52 |

33 or less |

() Here are Simon's marks.

26 marks 33 marks. 18 marks

‘What grade did Simon get on the test?
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(b) Here are Jenna's marks from paper 1 and paper 2

48 marks 35 marks ?

Jenna's grade on the test was grade A.
Complete the sentence below.

\

Jenna must have scored atleast __________ marks on paper 3
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12,

There are two small tins and one big tin on these scal

The two small tit
The mass of the big tin is 2.6kg.

What is the mass of one small tin?

Show your working.

kg

HEIUA,
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‘The table shows the cost of tickets for visiting a castle.

Family ~ £17.00

Adult £6.50

Child £4.50

Two adults and two children visit the castle.

They buy a family ticket.

How much more would it have cost to buy two adult tickets and
two child tickets?
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5.

Look at the number sentences below.
Tick (v) ones that are correct and cross (x) ones that are incorrect.
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21. (a) Work out the answer.

\2¢(16+2)¢6.

(b) Put brackets in the calculation below to make it correct.

\ 2 + 16
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26 In 2005, about 60.2 million people lived in the UK.
Look at the information about these people.

= 50.4 million lived in England.
® 5.1 million lived in Scotland.
= 3 million lived in Wales.

= The rest lived in Northern Ireland.

(a) In 2005, about how many people lived in Northern Ireland?

(b) In 2005, about what percentage of people in the UK lived in Wales?
Tick (/) the correct value.

\ r‘ 1% rlsﬁ |—|2096 |_|6396 —
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"

Write the missing numbers.

\

962 +

51 x

- 403

+28

= 1898

982

2397

828





image52.jpg
6. Two websites sell the same type of radio.

Sunilis going to buy the radio from one of the websites.
He also has to pay for postage.

Which website is cheaper and by how much?

\

Website is cheaper by
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11. (@) Work out the answer.

\z.(w

(b) Put brackets in the calculation below to make it correct.

N
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16. In 2005, about 60.2 million people lived in the UK.
Look at the information about these people.

= 50.4 million lived in England.
= 5.1 million lived in Scotiand.
= 3 million lived in Wales.

® The rest lived in Northern Ireland.

(@) In 2005, about how many people lived in Northern Ireland?

M ]

(b) In 2005, about what percentage of people in the UK lived in Wales?
Tick (v) the correct value.

N O O e [es —
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Write the missing numbers.

\

962 +

51 x

- 403

+23

= 1898

982

2397

828
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\

Two websites sell the same type of radio.

Sunilis going to buy the radio from one of the websites.
He also has to pay for postage.

Which website is cheaper and by how much?

Website is cheaper by

i
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Alice and Ben each buy a bicycle but they pay in different ways.

' Ben pays
As":;s”;‘;s £8.62 every week
- for 24 weeks

Ben pays more than Alice.

How much more?

Show your working.

2mana
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Wite a number in each box to make the calculations correct.

\ x - :

80
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Work out

1048 + 208 =

4828 - 480 =

Vi

Vimith
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7

There are two small tins and one big tin on these scales.

The two small tins each have the same mass.

The mass of the big tin is 2.6kg.

What is the mass of one small tin?

Show your working.

kg
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20.

Here are six number cards.

‘2“3’

4"5

(a) Arrange these six cards to make the calculations below.

The first one is done for you.

939 =

1164

750 =

(b) Now arrange the six c:

\

1n5 =

ake a

difference of

15





